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1) State:	
· The problem
· [bookmark: _GoBack]The possible outcomes
· Probabilities

2) Plan:
· [image: https://encrypted-tbn0.gstatic.com/images?q=tbn:ANd9GcTDU3lWWjVxeKTuBKJx0UmkT5GfsLIdAm88YHjHZLj8v7MbmZPm]What random model will you use?
· What does each outcome on the model represent in context of the problem?
· What will you measure?
· What exactly are you going to do?
· Repeat how many times?

***Be clear enough so the reader could run your exact simulation from reading only your written explanation.

3) [image: https://encrypted-tbn3.gstatic.com/images?q=tbn:ANd9GcQIzBYwaBlM2EcwqVu9lx3qUMQ0DzEqFcI4MkDPgI9WJIJTnkYb]Do:
· Perform repetitions of the simulation
· Show what you got

4) Conclude:
· Analyze your results
· Estimate your probability
· [image: https://encrypted-tbn2.gstatic.com/images?q=tbn:ANd9GcT9SH9qPJsQKcuA1GF1wX6RbQb3eFj1h-G_cU1g2iqwT5PYKQOl][image: https://encrypted-tbn3.gstatic.com/images?q=tbn:ANd9GcSmeaY5iwV20QFKbMMTEMTJ4mKUNIkC5Ax8UpSVFcoJR4FXrdhBNQ][image: https://encrypted-tbn3.gstatic.com/images?q=tbn:ANd9GcQ29CDB_BkKOHLUv1pEquTWVSYreOEOEuBTMh5BNuKUEm0zKx77Ew]Answer the original question in context
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